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A subspace of R” is any set A in R" that has three properties:

t% a. The zero vector is in H. OeH
\'B/b. Foreachu and vin H, the sumua + visin H. W,VEH ?mp\Tf,e wiv 6 R
|Dc. Foreach uin H and each scalar ¢, the vector cu is in H.

wert , cem implies  cu €W |

——— — —
Py <A
A R R"
v
Nt A )foem“z Ax=0% =R"
Col A = f/\x xeR" {C@mg ) -
g ) o spru 0w
oL BWRAPALRS
W 6 A 5wWes \
s ADp=0 Nest

duppsiL LV E Nwl A T Au=o oud AV=0

S, Mo AL Uyt & oo Unsay- fync.

thn 0 ¥o= ,AWH—I)Nc Al = ©

pm‘un-\v\\) C aso W6 lkv\mn‘t%.




